ROIINO. oo,

E-3085

M. Com. (Final) EXAMINATION, 2021
(Optional Group—D)
(Taxation and Accounting)
Paper First
TAXATION IN INDIA

Time : Three Hours ] [ Maximum Marks : 100
A gl Ul gl b IR QAN | GRS §HIE W TP U BRAl
ARl 8 | |l URAl & 3 FHA g |
Attempt all the five questions. One question from each

Unit is compulsory. All questions carry equal marks.
3PE—1
(UNIT—1)
1. el I B MM A B (Y el el A H 9 e
IRIT & ST & S dlell Belfadl df TRy

(3) 9rT 80 D
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(@) orT 80 DD

(@) 9rT80 TTA

(@) erT80 U

Explain the following deductions allowed from Gross Total

Income while computing Total Income :
(@) Section 80 D
(b) Section 80 DD
(c) Section80 TTA
(d) Section80U
3T
(Or)
Ue Afdd ¥ wHa Feifhd fdaver 9 aR-feRor a8 2019-20
@ ford TSI g1 A TG Yg DR AT Pl TUFT DI -

3
(i)  wPE-FER A T fhRmEn 20,000
(i) T Yol @ (mdfera) 30,000
(i) ¥ B AUR BT AH 6,31,000
(iv) dfed 9 I (Fad) 1,00,000

V) g aft I 10,000
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From the following particulars of an individual, calculate his

total income and net-tax liabilities for the assessment year

2019-20:
3
() Rent from let-out properties 20,000
(i)  Long-term Capital gain (computed) 30,000
(iii)  Profit from own business 6,31,000
(iv)  Income from Lottery (Gross) 1,00,000
(v) Net Agriculture Income 10,000
TPE—2
(UNIT—2)

A I B R ¥ 2019-20 H FEfofad oW urd B @

P &

3
AHH AR M (O D TTE) 75,000
U ¥ A (FR-4) 7,07,500
X fol. 9§ @i 10,000

fo=ia 9§ 2019-20 & FRuiRd Rl do < sfim-wx wfdr &t
UM BIFT |
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Shri Bose has estimated the following incomes for the

financial year 2019-20 :

3
Income from House Property (Computed) 75,000
Income from Profession (Taxable) 7,07,500
Dividend from X Ltd. 10,000

Determine the amount of instalments payable as advance

tax.
3rerar
(Or)

IR IR & TSI S BT U BT |

Describe the organisational structure of Income Tax

Department.
3PE—3
(UNIT—3)
freferRed w e fewfor forkay -
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Write short notes on the following :
(@) Background of Goods and Services Tax
(b) Concept of Goods and Services Tax
(c) Needs of Goods and Services Tax
(d) Structure of Goods and Services Tax
JIdr
(Or)
A T WA IR B A Ul @ qa yfshr & ? Srusiar
& T RO BN © °

What is the procedure of registration under GST ? What are
the consequences of non-registration ?

SBI—4
(UNIT—4)

H, Y9 IS FHFAI A T 2,80,000 BT I W B qEX W HY
foar | T Hawi @ T 3,50,000 BT Al TAT AT D TR
T 1,00,000 & Al fapa fHar| T 10,000 F1 <elipM ot
GHTIT TAT MG el A T 22,000 BT HAfBE & forg v TR
FSRR I WGl | e CGST @I &% 9% AT SGST &l &
9% &, @ I& <F GST &I TUMT BIfT |

M/s. Raman & Company purchased goods for ¥ 2,80,000
from outside the state. They sold goods for ¥ 3,50,000 in
local market and goods for ¥ 1,00,000 outside the state. Paid
telephone bill ¥ 10,000. Purchased an air-conditioner for
office for ¥ 22,000 from local market. If CGST is 9% and
SGST is 9%, calculate Net GST payable.

P.T.O.
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SNEH
(Or)
3-9 9 w wferq feael fafay |
Write a short note on E-Way Bill.
3PIE—5
(UNIT—5)
5. WA WAl IR b GIGAAD g GRING ol W U Hea
femft forRau |

Write a short note on organizational and administrative
structure of GST.

rerat
(Or)
A1 9 a1 IR SIRHNGT B! (R | T o forlay |

Write a note on appointment of officers of GST.
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